RO5% 4 Al .
ERE R - 5 EHR A

THSFER FEERR HEMR) ZIGHIAFFER. RA M - #ER R, HE&HHEE) A
HE A S BERETRREG(THSFERER)

LEREBE 1 2 3 4 5 6 7 8
BREEME |PEMRNE [BHMES |[RREMER ETERZR (N—FOV KREE |/\UFUk
PhENE |BIFEEIE |EHEE REELE |LHERE |VR EERE VR
fiE T4 AE

ZEATIR %
feE#m | ™
2F 1,086,579 1,700 9,727 955 163 13,355| 147,481 4,469 889
itiEE 59,146 69 415 57 6 773 7,415 245 29
HHE 10,711 16 114 3 5 113 1,364 47 6
=FE 10,373 11 139 5 2 85 1,578 34 10
= i 12 20,683 55 200 18 1 292 2,785 73 14
MEE 8,358 17 76 5|- 98 976 37 3
= 8,334 31 124 6 2 109 976 34 13
=ER 14,938 36 170 12 3 114 1,765 50 9
S 3] 22,748 64 227 17 2 204 2,768 64 12
N 16,606 33 130 14 1 199 2,001 47 20
HEER 15,567 30 151 10 3 146 1,994 32 9
mER 55,244 107 461 38 10 554 6,643 192 47
FEBE 50,470 74 447 44 9 599 6,698 217 44
B ER 110,765 154 920 90 18 1,294 14,006 440 71
v:E=J]=} 69,885 115 603 42 20 726 10,075 306 60
iag 17,847 54 193 13 1 358 2,416 74 18
EWE 8,958 19 80 5 4 133 1,338 45 13
alg 10,129 19 113 7 2 193 1,261 49 18
BEHE 6,554 7 49 5 1 92 1,123 46 4
IFIR 5,314 13 69 5 1 62 717 25 1
EEE 17,006 21 174 27|- 163 2,373 59 13
Ik 5. 1R 14,738 15 175 6 2 213 1,651 48 13
E4E 12 28,863 26 252 29 4 345 3,856 94 17
ZHNIE 51,072 117 458 18 4 481 5,794 157 56
=FE 15,620 33 151 3 3 191 2,142 67 19
HER 12,483 24 125 12 1 151 1,878 68 16
ERRTF 23,854 19 197 23 3 A41 3,534 120 19
KB FF 87,719 105 686 70 13 1,242 12,228 359 78
EEE 50,900 72 405 32 10 620 8,356 223 40
ZRE 13,900 15 101 12 2 135 2,154 38 15
FEdTI=] 9,114 10 76 7 1 90 1,389 30 9
EmE 5,628 4 58 8 1 87 969 20 8
ERE 6,993 12 101 13|- 92 1,086 40 11
L e 18,483 32 132 25 3 274 2,816 90 24
LEE 25,210 26 248 25 2 244 3,463 103 19
=)=t 13,765 18 156 16 1 188 2,363 69 8
mER 7,604 22 78 1 1 145 1,067 36 4
EFE 10,100 4 105 2|- 111 1,503 25 6
EIEE 12,443 15 81 22 2 171 1,614 69 5
Syl 6,259 5 94 4- 85 898 28 7
fEEE 43,697 48 368 37 10 493 6,559 180 23
HEER 7,466 9 72 10 1 74 1,104 31 9
EigE 14,227 14 119 11 2 231 1,789 64 2
REARE 17,004 29 160 18 2 269 2,404 89 8
KoHE 12,390 24 128 11 1 144 1,561 76 19
= IR 9,491 28 123 13 1 99 1,181 50 15
EREE 15,561 22 130 47|- 205 2,348 112 7
pEER 12,359 7 93 57 2 227 1,502 67 18
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RO5% 4 Al .
ERE R - 5 EHR A

LEREBE 9 10 11 12 13 14 15 16
HEFWH [Py EEME |EXMH (SRME (BHERE |HAKH (V870-F
FMBRE |2—-<  |HE |AOGEIE |{LAE/R |MERREEME |26 BRAEIREE
. |)—rfey— B HIREH R
MERR | R % K/ B8
fEE#™ T4IEE
—a—Aa/n
9‘__
2F 1,086,579 34 922 27,371 14 24,105 5,464 895 271
itiEE 59,146 2 50 1,423(- 1,563 283 39 14
HHE 10,711 1 8 240|- 289 54 6
=FE 10,373 2 9 272|- 311 57 19
=i I8 20,683 1 23 496|- 530 97 26
MEE 8,358|- 3 237 1 210 32 6
Iz 8 8,334|- 9 217|- 185 34 13
BEER 14,938 1 13 403 1 382 56 12
TR 22,748|- 21 656 1 533 134 21
AR 16,606 |- 19 413 1 308 62 14
HEER 15,567 |- 16 506 2 356 51 13
BER 55,244 1 43 1,622 1 1,351 277 49 13
FEBE 50,470 2 32 1,328(- 1,051 191 50 12
g 110,765 4 127 2,768 1 2,538 521 73 37
v:E=J]=} 69,885|— 47 1,869 1 1,726 336 59 21
iag 17,847 1 14 505|- 432 97 10 12
EWE 8,958|— 6 242|- 212 69 12
alg 10,129(- 2 201 |- 187 41 4
fBHE 6,554 1 5 126]- 165 27 3|-
IFIR 5,314|- 5 139(- 145 20 3 1
EHFE 17,006(- 21 384 1 401 122 12 8
Ik 5. 1R 14,738|- 7 383 1 310 87 16 6
E4 12 28,863 1 33 748|- 656 189 29 9
TR 51,072 1 16 1,355|— 1,204 272 40 11
==y 15,620|- 11 408|- 355 87 19 2
HEER 12,483(- 10 275|- 234 80 18 1
ERRTF 23,854|— 18 537|- 496 126 27 4
KB FF 87,719 5 68 1,943 1 1,837 385 51 14
EEE 50,900 2 37 1,205 1 1,056 250 31 8
Z=RBER 13,900 1 12 318|- 277 72 26 3
FEdTI=] 9,114|- 5 199(- 204 60 11 1
EmE 5,628|- 8 154|- 103 35 5|-
ERE 6,993|- 4 127~ 137 43 2 3
A 18,483|- 17 490(- 382 144 18 11
LEE 25,210(- 15 597|- 524 98 20 6
=)=t 13,765|- 19 308|- 279 102 6 1
mER 7,604(- 8 219|- 138 73 6 4
EFNE 10,100|- 7 273|- 205 70 8 2
EIEE 12,443 2 8 376|- 255 87 10 1
Syl 6,259 2 7 176|- 105 27 5 1
rer = 43,697 3 45 1,080 1 892 167 34 10
HER 7,466 1 5 152(- 160 39 7 3
EigE 14,227|- 11 310|- 289 65 5 1
REARE 17,004 |- 18 414|- 301 78 23 6
KoHE 12,390(- 13 312|- 217 45 8 1
IR 9,491 |- 10 233|- 145 60 6 2
EREE 15,561 |- 18 354|- 299 100 16 5
iR 12,359 (- 19 378|- 170 62 4 3
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RO5% 4 Al .
ERE R - 5 EHR A

LEREBE 17 18 19 20 21 22 23 24
ZRIFZE (B [S4vYV— [BIBBEE [RFaVR) [H030K | TUAUK |BAEE
MEAE %&E% LR kA | 7R ﬂ:'lﬁéﬂiﬁ
RifENE J4— X
MR [ FERCG) ! A
fEE#™
2F 1,086,579 10,528 26,578 1,756 268 1,671 13,689 448 53

itiEE 59,146 481 1,613 66 8 68 701 22 5

AR 10,711 103 610 8|- 11 87 4|-

EFE 10,373 145 333 13 2 24 188 5|-

EHE 20,683 217 467 39 8 41 266 5 2

MEE 8,358 106 238 9 6 13 63 8 1

IR IR 8,334 92 241 11 2 16 155 2|-

EER 14,938 170 463 29|- 26 242 3 1

IR 22,748 206 538 26 5 38 310 1 1

AR 16,606 169 387 33 1 21 180 4 3

HEER 15,567 156 363 20 2 21 251 10 2

BER 55,244 527 1,299 114 11 71 704 37 2

FER 50,470 473 1,213 68 17 62 545 18-

B ER 110,765 1,020 2,321 190 27 177 1,317 43 4
HEJIR 69,885 634 1,665 108 17 111 839 23 3

FaE 17,847 247 600 39 11 33 256 5|-

EWE 8,958 115 273 3 1 12 167 11~

alg 10,129 119 226 16 4 16 94 4 2

fBHE 6,554 74 172 8 1 10 105 3|-

EE 5314 56 171 15 3 5 59 5 1

EHFE 17,006 179 687 46 4 29 250 9|-

Ik & IR 14,738 145 430 25 5 21 194 4|-

E4 12 28,863 369 733 51 4 42 411 14 1

TR 51,072 463 1,076 117 13 57 673 16 2

==y 15,620 175 391 24 3 24 199 4 1

HEER 12,483 130 256 15 5 31 156 5|-

ERRTF 23,854 215 512 27 3 33 248 6|-

KB FF 87,719 723 1,981 166 27 133 1,070 38 3

EER 50,900 447 1,174 70 12 65 578 14(-

Z=RBER 13,900 127 301 17 4 21 120 3|-
FEdTI=] 9,114 68 203 14|- 17 80 4|-

EmE 5,628 60 109 5 2 6 67 2|-

ERE 6,993 79 161 12 2 16 74 4|-

FA[IE] 18,483 191 360 25 11 19 188 9|-

LER 25,210 229 594 31 6 33 425 7 1

iimyl=t 13,765 137 258 15|- 18 188 3[-

mER 7,604 89 166 9|- 5 101 2|-

EFNE 10,100 88 174 11 1 9 125 8|-

EEE 12,443 97 266 13 1 18 168 5|-

Syl 6,259 96 259 9 1 4 76 1 3

rer = 43,697 399 1,046 92 9 71 679 21 1

HEER 7,466 78 229 15 1 18 109 13|~

RIFER 14,227 141 423 14 3 24 185 6|-

RERIE 17,004 178 530 28 2 37 195 10 1

Nl 12,390 123 288 10 3 27 141 5 1

IR 9,491 126 257 18 6 19 126 4 1
EREE 15,561 177 381 38 7 64 217 20|-

pEER 12,359 89 140 24 7 34 117 8 11
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 25 26 27 28 29 30 31 32
HETHESZ [HTLV-1E [BREE [281%73|DY)L)vE [ERESA|(RALLS |ECEER
E'EEEEE HEE R ﬁgam AfK— |5® INF— FINF— |ZE=RAESA
X JiE 3 R INF—
| | . 7
feE#m | ™
2F 1,086,579 78 1,038 141 6,817 21 343 26 9
itiEE 59,146 4 40 7 277|- 19 1 1
AR 10,711 2 3 2 48|~ 4(- -
BEFE 10,373 1 12 3 47|- 4(- -
EHE 20,683|- 19 3 76| 13- 1
MEE 8,358 2 4 1 44|- 3|- -
Iz 8 8,334 2 3[- 41|- 3[- -
EER 14,938 1 6 3 91 1 12|- -
IR 22,748|- 7|- 91|- 10{- -
AR 16,606 1 3 2 72 1 3 1]-
HER 15,567 1 4 1 78|- 4(- 1
mER 55,244 2 20 8 223 4 17 4|-
FER 50,470 5 25 4 239 1 13 11~
B ER 110,765 13 47 17 549 1 53 7 2
HEJIR 69,885 3 38 4 300 2 14 11~
FaE 17,847 3 5 3 101 1 12|- -
EWE 8,958|— 2 5 81|- 3|- 1
RIIE 10,129 1]- 1 90(- - - 1
fBHE 6,554 |- - - 56— - - -
= 5,314[- - 1 29|- 2|- -
EHFE 17,006 (- 2 2 263 2 9|- -
Ik & IR 14,738 2 6 1 102|- 1[- 1
E4E 12 28,863 2 14 2 181|- 4 2|-
ZHE 51,072 2 26 3 290 1 4(- -
=FE 15,620 1 11 1 90|- 8 1[-
HER 12,483 2 4 3 94|- 1[- -
AT 23,854 1 10 6 166|- 8|- -
KR AT 87,719 4 76 19 393|- 26 3|-
EER 50,900 2 42 4 302|- 11|~ -
ZRE 13,900 2 14|- 98|- 11 e
FEdTI=] 9,114 1 6 1 43|~ 4|- -
EmE 5,628|- 2|- 40|- 1 2|-
ERE 6,993|- 7 1 60| 2 11~
L e 18,483|- 9 1 129|- 6|- -
LER 25,210 4 8 3 180 1 6|- 1
iimyl=t 13,765 1 12 1 114 2 3|- -
mER 7,604 1 7|- 48|~ 1|~ -
EFNE 10,100 1 4 2 93 1 2|- -
gy o 12,443 1 12 2 150|- 3|- -
Syl 6,259 1 2 1 101|- - - -
fEEE 43,697 2 76 8 528|- 1[- -
HER 7,466|— 33 1 80|- 3|- -
RIFER 14,227 3 73 2 97|- 3 11~
REARE 17,004 1 50 3 252 1 10[- -
Nl 12,390 2 46 2 203(- 5(- -
EIHE 9,491 |- 50 1 68|- 5|- -
BERER 15,561 1 119 3 89| 2|- -
iR 12,359]— 79 3 30 2 4]- -
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RO5% 4 Al .
ERE R - 5 EHR A

L RES 33 34 35 36 37 38 39 40
a7)L |HREHE (KAEE |REKE |BEMEE (RT,—7 |FENR |STER
VR |BEE fiE BOLE |VR-Dav|RERE (%
. JURE (& & ) VU EIEEE
ZEATIR %
feE#m | ™
2F 1,086,579 1 4,167 3,186 289 2,235 185 78 4,676
itiEE 59,146|- 174 223 17 175 9 3 244
AR 10,711]- 34 29 4 29 4 1 42
=FE 10,373|- 37 48 1 26 3|- 34
EHE 20,683|- 65 69 5 44 5 2 113
MEE 8,358|— 31 12 2 20 4|- 24
= 8,334/ 35 33 1 16(- - 43
=ER 14,938|- 74 32 7 27 1 1 63
IR 22,748|- 65 60 5 35(- 3 146
N 16,606|— 55 43 6 35 3 1 84
HEER 15,567|- 47 32 8 20 2 2 71
mER 55,244|— 189 184 8 106 3 6 264
FER 50,470|- 172 166 16 96 3 2 241
g 110,765|- 447 297 31 182 11 2 505
HEJIR 69,885|— 252 198 13 101 12 5 325
FaE 17,847|- 83 67 1 38 1[- 91
EWE 8,958|— 25 21 3 14 2|- 32
alg 10,129(- 37 33 4 23 2|- 51
fBHE 6,554|— 37 25 1 15 3|- 21
= 5,314|- 25 11|~ 14(- - 18
EHFE 17,006 (- 77 41 6 27 2 1 57
Ik & IR 14,738|- 53 43 3 38 3 1 61
E4E 12 28,863 |- 111 99 9 69 10 2 105
ZHNIE 51,072|- 210 179 15 146 10 8 194
==y 15,620|- 54 47 4 39 6 2 44
HER 12,483|- 47 32|- 18 4- 50
ERRTF 23,854|- 94 63 12 44 8 1 105
KB FF 87,719|- 367 226 27 168 19 9 415
EER 50,900(- 167 147 13 109 7 5 178
Z=RBER 13,900(- 72 37 4 38 3|- 58
MR 9,114|- 42 26 1 14 4 2 29
EmE 5,628|- 28 17 5 14(- 2 25
ERE 6,993|- 24 19 1 14 4|- 39
L e 18,483(- 74 48 3 35 2 1 84
LER 25,210(- 107 74 5 46 2 1 77
iimyl=t 13,765|- 46 42 1 27 6 1 50
mER 7,604(- 39 31 2 24 6| 24
=JNE 10,100|- 38 20 4 22|- - 45
gy o 12,443(- 37 38 10 23 3 4 54
Syl 6,259 (- 23 10 5 13 2 1 13
fEEE 43,697|- 173 136 6 106 5 2 226
HEEER 7,466|- 31 10 1 16]— 1 27
RIFER 14,227|- 73 36 6 25 2 1 75
REARE 17,004|- 80 43 4 33 2 2 44
Nl 12,390(- 56 31 3 26 3 1 42
IR 9,491|- 45 27 2 22 3 1 32
BERER 15,561|- 80 38 2 33 1|- 48
sk o 12,359 1 35 43 2 30]|- 1 63
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RO5% 4 Al .
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HERES 41 42 43 44 45 46 47 48
Effa |BEIEZ |TEWMEN |ZRME ([IFEREKME |EMEE |[N\—y—|ERMER
AR 2¢ HEIkX |ZHRMOE |XRERF |ZROE (UIOIF |’ JUBEE R
. % JEAE RKHERAF IRAEIREE
ZEATIR 8 B
fEE#™
2H 1,086,579 2,853 2,115 11,879 3,537 7,643 4,825 1,455 1,174
itiEE 59,146 132 101 483 136 371 138 167 74
AR 10,711 6 9 91 15 85 118 30 17
EFE 10,373 10 18 96 35 45 16 11 14
EHE 20,683 22 73 227 65 142 54 14 33
MEE 8,358 2 15 49 17 40 11 8 11
IR IR 8,334 6 16 96 13 45 25 29 6
EER 14,938 13 19 153 45 92 70 34 8
IR 22,748 55 42 284 71 139 96 32 18
AR 16,606 44 25 202 48 100 28 12 20
HEER 15,567 22 16 156 55 98 71 22 13
BER 55,244 146 110 589 156 410 218 36 65
FER 50,470 193 120 698 187 417 280 58 44
g 110,765 447 255 1,230 409 937 478 98 110
HEJIR 69,885 262 189 785 238 627 470 66 87
aR 17,847 22 24 167 90 92 37 31 16
EWE 8,958 14 13 68 22 57 37 15 9
alg 10,129 24 30 105 29 78 46 23 12
fBHE 6,554 5 6 39 9 43 24 10 6
EE 5,314 7 15 54 17 37 13 7 5
EHFE 17,006 21 28 148 49 85 91 18 17
Ik 5. 1R 14,738 33 28 172 58 97 36 10 18
E4 12 28,863 65 71 307 94 215 208 19 42
TR 51,072 156 96 645 177 356 84 37 47
== 15,620 33 29 140 41 91 79 15 18
HEER 12,483 30 27 118 30 90 57 14 12
ERRTF 23,854 61 56 282 57 167 188 34 25
KB FF 87,719 211 143 1,112 270 578 326 156 86
EER 50,900 173 82 610 204 427 186 60 55
ZRE 13,900 48 15 175 45 91 41 23 11
IR 9,114 20 11 108 23 59 31 15 9
EmE 5,628 5 10 60 16 36 8 6 5
ERE 6,993 22 9 82 26 56 32 8 4
L e 18,483 61 31 233 76 131 49 10 26
LER 25,210 63 39 240 87 181 97 57 30
iimyl=t 13,765 21 25 136 53 113 61 15 11
mER 7,604 9 13 67 24 51 35 17 7
EFNE 10,100 42 28 155 43 49 54 13 16
EEE 12,443 29 29 161 39 98 46 23 24
Syl 6,259 24 18 58 12 43 43 10 1
rer = 43,697 109 77 366 176 261 211 54 52
HEEER 7,466 4 15 67 52 41 32 15 11
RIFER 14,227 40 41 200 57 88 251 24 22
RERIE 17,004 25 25 169 48 96 35 17 16
Nl 12,390 27 16 146 40 54 178 19 7
IR 9,491 7 16 105 28 58 19 15 6
BERER 15,561 39 23 153 28 86 58 42 7
iR 12,359 43 18 92 27 90 59 6 21

6/86




RO5% 4 Al .
ERE R - 5 EHR A

LEREBE 49 50 51 52 53 54 55 56

2BMIV|REHL |£5HR Bl [V —JL [RAXRF |BEMESZ |IN—Fzv

FTIN—T |/ S RE |RE SR |V AEIREE LR RIMER |ME

2 R
ZEATIR 8
fEE#™
2H 1,086,579 66,307 26,999 27,057 10,199 20,476 4,705 1,083 15,164
itiEE 59,146 2,972 1,224 1,062 358 4911 225 38 882
AR 10,711 630 225 190 101 89 54 7 205
EFE 10,373 617 186 245 106 70 45 10 138
iR 20,683 1,323 506 419 264 263 69 20 329
MEE 8,358 482 149 186 74 84 51 8 100
IR IR 8,334 495 161 144 83 71 37 6 128
BEER 14,938 884 386 387 162 180 62 15 287
TR 22,748 1,644 582 554 220 526 102 16 371
AR 16,606 986 403 434 172 400 66 15 262
HEER 15,567 884 337 408 104 207 54 14 183
BER 55,244 3,845 1,443 1,645 595 817 225 47 808
FER 50,470 3,365 1,280 1,284 478 621 220 51 808
g 110,765 7,274 2,798 2,790 1,019 2,239 603 125 1,773
mE)|8 69,885 4,695 1,851 1,687 753 929 339 84 1,015
FaE 17,847 1,138 472 383 184 124 69 15 243
EWE 8,958 520 240 186 75 113 42 12 97
alg 10,129 594 263 381 75 233 62 11 140
BEHE 6,554 320 164 215 59 77 40 9 83
IRy 5,314 358 178 104 67 46 29 4 73
EHFE 17,006 1,004 437 421 134 144 54 8 260
Ik & IR 14,738 870 409 539 136 218 67 11 158
E4 12 28,863 1,733 791 789 295 377 95 27 370
TR 51,072 3,309 1,386 1,376 425 628 226 68 592
=58 15,620 826 395 503 144 246 54 20 190
HEER 12,483 687 268 253 93 163 48 13 146
ERRTF 23,854 1,373 587 664 164 384 83 35 265
KB FF 87,719 5,027 1,995 1,886 735 1,219 370 79 1,070
EER 50,900 2,845 1,304 1,338 520 872 219 62 586
ZRE 13,900 711 349 235 91 160 58 12 127
IR 9,114 491 240 279 84 164 31 10 97
EmE 5,628 259 136 148 36 90 29|- 66
ERE 6,993 322 141 149 62 70 24 7 92
] L IR 18,483 911 452 455 138 293 57 25 244
LER 25,210 1,420 585 614 212 311 89 21 301
=)=t 13,765 818 344 458 150 277 42 3 156
mER 7,604 359 184 143 81 142 25 7 82
EFNE 10,100 484 288 289 142 150 33 13 166
EEE 12,443 687 330 261 192 207 63 19 213
Syl 6,259 377 181 172 69 109 37 7 97
rer = 43,697 2,699 1,094 1,144 421 611 202 58 763
HER 7,466 450 182 128 69 116 25 9 91
RIFER 14,227 972 373 427 175 277 76 9 230
RERIE 17,004 958 423 438 148 260 60 9 215
Nl 12,390 705 288 235 127 209 63 12 167
= IR 9,491 626 275 236 117 167 43 7 166
EREE 15,561 1,115 402 541 163 234 87 11 236
iR 12,359 1,243 312 232 127 378 51 14 93
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RO5% 4 Al .
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LEREBE 57 58 59 60 61 62 63 64
BEMED (BXED (BERED |BAEFR |BCRE (REMR [FEMEL |mietEm
WEDA |AAE FRAE HEm  |EmE (BAA'SOl/MOEY |IMRED
. fiE =gl EVIREE |[MHEBE |HEBR
ZEATIR %
fEE#™
2F 1,086,579 18,108 4,388 64 8,395 1,386 1,121 16,600 405
itiEE 59,146 1,072 672 2 427 98 36 928 20
AR 10,711 96 35|- 79 9 7 168 6
EFE 10,373 234 22|- 97 17 13 234 6
EHE 20,683 440 67|- 155 27 19 287 9
MEE 8,358 70 25|- 52 17 10 140 5
IR IR 8,334 278 37 1 52 4 11 92 4
EER 14,938 386 58|- 102 14 8 207 2
IR 22,748 274 74|- 178 26 21 284 5
AR 16,606 269 44 1 109 12 11 204 4
HEER 15,567 366 38|- 152 18 20 349 7
BER 55,244 587 110 1 416 84 76 793 14
FER 50,470 676 200 3 385 68 62 775 18
B ER 110,765 1,378 413 8 734 100 111 1,343 27
HEJIR 69,885 793 213 5 508 64 81 1,100 20
FaE 17,847 458 70 2 163 31 17 239 7
EWE 8,958 172 40|- 87 18 10 114 3
alg 10,129 190 49 1 114 21 8 192 4
fBHE 6,554 98 24 1 52 4 5 94 2
IFIR 5,314 131 18- 46 8 6 67 3
EHFE 17,006 385 77 4 151 30 23 307 10
Ik 5. 1R 14,738 141 39|- 154 28 24 291 4
E4 12 28,863 466 77 3 225 39 30 468 13
TR 51,072 545 129 3 430 96 76 989 25
== 15,620 380 66 1 107 21 14 251 1
HEE 12,483 207 36 1 129 23 12 221 11
ERRTF 23,854 472 82 4 204 27 22 362 15
KB FF 87,719 1,835 384 7 731 123 83 1,541 37
EER 50,900 1,005 155 1 389 74 67 748 19
ZRE 13,900 424 135|- 119 7 21 212 12
FEdTI=] 9,114 159 47 1 69 18 10 193 9
EmE 5,628 188 18 2 36 2 2 80 2
ERE 6,993 131 13 2 83 7 9 106 1
L e 18,483 480 106|- 146 20 14 256 1
LER 25,210 355 81 1 178 24 24 357 13
=)=t 13,765 166 33 2 100 23 14 223 5
mER 7,604 121 44|~ 63 9 9 126 2
FE 10,100 187 45 2 68 17 8 138 6
EEE 12,443 215 39(- 88 11 8 181 4
Syl 6,259 52 19(- 40 5 3 110 4
rer = 43,697 627 135 2 303 51 39 621 16
HEER 7,466 118 26| 68 9 6 122 2
RIFER 14,227 269 82|- 103 16 8 162 8
RERIE 17,004 428 142 1 125 10 17 215 1
Nl 12,390 210 42 1 100 18 13 199 5
IR 9,491 164 54|- 99 12 11 142 1
EREE 15,561 220 50 1 78 13 8 219 3
iR 12,359 190 23|- 101 13 14 150 9
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RO5% 4 Al .
ERE R - 5 EHR A

LEREBE 65 66 67 68 69 70 7 72
[RHEER |ATE |ZRME |ZEEJAF (2HMPF [LEHEFE |[BEEX | TEAKAE
gg;éﬁ B B B1LE BB H;%}%;Eﬁiﬁ %Dﬂ?:iuzx
! IE JiE

PERR [ g "
fEE#™

2H 1,086,579 2,186 14,333 13,427 6,486 31,733 4,805 19,677 3,934
itiEE 59,146 122 612 608 197 1,567 70 941 283
AR 10,711 7 141 124 55 397 16 192 32
EFE 10,373 22 169 114 55 315 14 173 21
EHE 20,683 35 379 327 92 521 37 349 72
MEE 8,358 19 97 93 81 246 26 166 23
IR IR 8,334 15 149 110 37 145 121 117 9
=ER 14,938 34 117 193 133 514 21 363 37
i e 22,748 50 261 258 167 765 31 342 91
AR 16,606 39 226 209 66 424 87 368 81
HEER 15,567 29 276 181 60 401 23 317 51
BER 55,244 114 593 813 289 1,467 363 821 158
FER 50,470 132 728 730 266 1,386 126 866 147
g 110,765 273 1,261 1,783 512 2,732 395 1,769 467
HEJIR 69,885 168 787 935 283 1,601 176 1,313 264
aR 17,847 31 169 257 67 412 111 314 69
EWE 8,958 22 87 106 105 270 7 111 20
alg 10,129 20 103 106 86 333 11 223 49
fBHE 6,554 12 85 86 81 247 49 91 22
IFIR 5314 14 78 61 50 140 19 43 18
EHFE 17,006 29 164 244 67 330 104 321 69
Ik & IR 14,738 28 218 168 90 448 87 220 50
E4 12 28,863 55 383 412 141 651 44 537 112
TR 51,072 95 744 675 192 1,243 80 874 251
== 15,620 18 238 196 110 724 40 252 80
HEER 12,483 24 234 200 55 306 120 252 68
ERRTF 23,854 39 416 267 200 965 239 409 88
KB FF 87,719 166 1,267 1,066 552 2,725 258 1,594 276
EER 50,900 91 590 535 247 1,251 192 843 156
Z=RBER 13,900 29 332 205 88 355 44 280 51
IR 9,114 11 114 105 94 413 39 138 44
BEWER 5,628 9 107 59 52 207 46 88 24
ERE 6,993 13 128 59 77 209 40 99 18
L e 18,483 28 335 224 106 689 129 333 66
LER 25,210 57 458 294 177 731 252 823 76
=)=t 13,765 20 175 96 138 540 58 358 35
mER 7,604 13 101 96 74 337 28 125 30
EFha 10,100 16 153 91 90 405 53 193 23
EEE 12,443 25 91 112 127 521 30 195 51
Syl 6,259 9 97 83 74 319 21 133 21
rer = 43,697 91 365 392 293 1,355 412 915 147
HEER 7,466 12 120 84 59 212 96 178 22
RIFER 14,227 29 254 145 123 476 147 273 47
REARE 17,004 20 262 138 111 467 61 326 43
Nl 12,390 21 156 107 109 473 201 283 30
IR 9,491 11 70 58 81 335 30 196 48
EREE 15,561 31 185 98 147 732 196 315 55
iR 12,359 38 258 124 130 431 55 245 39
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RO5% 4 Al .
ERE R - 5 EHR A

L RES 73 74 75 76 77 78 79 80
TEAME |TEAKE |92y |TEARE | TERE [TEERR (REES |BFRER
TSHA W |PRLY |98 JF7RkO |EHRIL [EHEEER [aLRT  |LEVAR
. TUESE TUHESE Evaib |EU9 | TE A—)Lm  |E
ZEATIR gy TUERE  |TTHESE fE (FREE
feE#m | ™ 1K)
2F 1,086,579 219 2,256 984 34 4,414 20,336 413 49

itiEE 59,146 12 64 62| 233 1,023 28|-

AR 10,711 2 29 10|- 51 229 3|-

=FE 10,373 1 15 5 1 38 81 6|-

EHE 20,683 4 87 17|~ 94 365 3|-

MEE 8,358 2 39 10|- 31 143 2 1

Iz 8 8,334|- 12 11]- 28 141 1-

EER 14,938 4 60 20 5 62 403 6|-

IR 22,748 7 27 21(- 71 386 9|-

N 16,606 6 21 14(- 86 369 3 3

HEER 15,567 4 41 12 2 56 308|- 3

mER 55,244 13 70 33|- 178 954 27 2

FER 50,470 11 97 59 6 219 880 10(-

g 110,765 21 262 112|- 405 1,716 26 5
HEJIR 69,885 10 146 72|~ 285 1,491 25 7

aR 17,847 2 37 13- 78 342 6|-

EWE 8,958 2 19 8|- 48 169 3|-

alg 10,129 2 24 9|- 47 176 5|-

fBHE 6,554 2 4 7 1 28 84 1]-

IFIR 5,314 3 12 3|- 18 78 2|-

EHFE 17,006 3 35 18 1 100 310 23(-

Ik & IR 14,738 5 13 11|~ 65 314 7 2

E4E 12 28,863 1 90 38 1 182 602 8 4

ZHNIE 51,072 13 126 62 1 320 1,072 23 3

=FE 15,620 1 31 16 2 73 242 3 1

HER 12,483 3 25 10(- 51 207 6 2

ERRTF 23,854 4 43 21 3 83 385 7|-

KB FF 87,719 14 241 57 2 331 2,340 46 6

EER 50,900 12 77 36|- 201 831 27 1

ZRE 13,900 8 29 11|~ 60 341 11|~
MR 9,114 2 14 9[- 32 207 4(-

EmE 5,628 2 11 2|- 35 128 2|-

ERE 6,993|- 10 10[- 28 136 3 3

A=t 18,483 1 42 10 1 67 277 10 1

LER 25,210 5 51 21|- 64 458 6 1

iimyl=t 13,765 1 29 9[- 41 217 1-

mER 7,604 1 8 1]~ 32 126 2|-

=JNE 10,100 1 20 14(- 66 174 3 1

gy o 12,443 4 8 7 1 47 146 9|-

Syl 6,259|— 17 4|- 17 76 e

fEEE 43,697 14 115 53 5 198 772 16 2

HEEER 7,466 2 7 5|- 27 131 3|-

RIFER 14,227 3 20 8|- 42 192 3|-

RERIE 17,004 5 43 13 2 65 381 2|-

Nl 12,390 4 17 10|- 36 161 2|-

IR 9,491|- 34 6|- 28 206 5|-
BERER 15,561 2 14 8|- 38 336 8|-

iR 12,359]— 20 6|- 29 230 6 1




RO5% 4 Al .
ERE R - 5 EHR A

L RES 81 82 83 84 85 86 87 88
SEXRME |EXMEE |[7TOVURE (VL4 |$EFRERE MBIk (ERIREE St mie
BERERE BIEREK F— X (Bt (S MmE |F|AE (ZERMEH
BRREE | fiE EMME (ST
ZEATIR % B
feE#m | ™
2F 1,086,579 1,080 55 377 15,858 19,127 4,682 23 5,543
itiEE 59,146 86 3 37 1,115 819 188 1 162
AR 10,711 7 2 3 198 217 38| 43
EFE 10,373 12(- 2 232 210 51|- 46
EHE 20,683 17 4 3 410 367 79| 140
MEE 8,358 4 1 1 137 100 30|- 25
= 8,334 3|- 1 125 178 36| 51
BEER 14,938 10(- 4 225 391 66 1 97
IR 22,748 21|- 6 349 416 97|- 100
AR 16,606 13 2 15 333 380 97|- 107
HEER 15,567 11|~ 5 306 326 63| 63
mER 55,244 49 1 15 749 1,000 218 3 297
FER 50,470 47 4 19 671 1,115 229|- 280
g 110,765 113 6 36 1,343 1,732 419 2 599
HEJIR 69,885 74 4 24 670 1,363 279 5 411
FaE 17,847 21 1 4 349 265 66 2 89
EWE 8,958 8 3 1 151 83 40|- 64
alg 10,129 15 1 4 194 210 46|- 49
fBHE 6,554 4- 1 106 150 32|- 22
IFIR 5,314 3|- 1 100 185 30 1 41
EHFE 17,006 12]- 4 235 493 79| 118
Ik & IR 14,738 8 3 2 299 248 84| 66
E4E 12 28,863 36 2 2 500 495 135 2 150
TR 51,072 54 4 20 864 985 209 1 260
==y 15,620 7 1 7 241 284 63[- 66
HER 12,483 18 1 3 146 147 59 1 49
ERRTF 23,854 21|~ 5 398 410 89| 108
KPR AT 87,719 101 2 39 1,135 952 380(- 455
EER 50,900 48 1 17 585 756 255 1 314
Z=RBER 13,900 9|- 5 167 207 57|- 64
FEdTI=] 9,114~ - 6 129 149 56— 46
EmE 5,628 11]- 1 98 107 23|- 30
ERE 6,993 3 1 1 124 194 37|- 35
L e 18,483 27 1 2 236 261 11]- 103
LER 25,210 29|- 7 256 460 122|- 132
=)=t 13,765 16(- 4 201 245 61|- 69
mER 7,604 3|- 3 146 167 33 1 33
=JNE 10,100 12(- 6 127 195 35|- 51
gy o 12,443 16]— 6 153 274 62|- 61
Syl 6,259 8|- 3 110 62 22|- 27
fEEE 43,697 46 3 12 571 966 199 1 218
HER 7,466 4- 3 121 82 36|- 36
RIFER 14,227 12 1 4 213 233 57|- 56
REARE 17,004 18 1 8 216 325 76| 80
Nl 12,390 6 1 5 276 296 53|- 43
IR 9,491 17 1 4 194 275 39 1 52
BERER 15,561 12|- 8 205 213 69| 94
iR 12,359 8|- 8 149 139 77|~ 41
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RO5% 4 Al .
ERE R - 5 EHR A

LEREBE 89 90 91 92 93 94 95 96
JUNIRE [MIRER [/\vE-F [9SHRMEM |EREE |ER4EE BE2fE [(V0—F
FARESE EHIE | TVUEEE|IRETE [HEEE |[EHREE |
ZEATIR %
fEE#™
2H 1,086,579 954 20,687 221 324 16,344 1,175 7,403 52,108
itiEE 59,146 44 762 6 23 1,206 51 849 3,132
AR 10,711 11 116 6 1 156 7 39 577
EFE 10,373 5 211 4 3 145 16 68 554
EHE 20,683 22 411 6 6 369 17 89 1,076
MEE 8,358 3 132 6|- 292 14 76 385
IR IR 8,334 5 230 1 4 214 7 19 332
EER 14,938 8 480 3 6 321 13 77 638
IR 22,748 12 546 3 9 267 25 126 1,065
AR 16,606 12 425 2 1 150 15 63 801
HEER 15,567 16 371 2 9 214 24 64 739
BER 55,244 59 1,044 10 25 979 73 341 2,771
FER 50,470 57 1,280 13 10 672 59 265 2,320
g 110,765 139 2,107 19 43 1,598 112 922 5,136
v:E=J]=} 69,885 66 1,432 15 28 856 84 394 3,499
HiaE 17,847 15 325 5 7 217 8 104 728
EWE 8,958 10 165 1 5 163 11 26 497
alg 10,129 11 129 2 4 195 16 80 498
fBHE 6,554 7 94 1 2 84 8 29 274
IFIR 5,314 4 81|- - 32 6 31 205
EHFE 17,006 11 302 4 3 262 15 72 527
Ik & IR 14,738 17 149 6 7 149 27 88 729
E4 12 28,863 20 532 7 10 200 27 159 1,488
TR 51,072 37 726 5 10 309 69 240 3,293
== 15,620 8 238 5 6 305 17 74 680
HEER 12,483 7 250 3 1 173 11 80 591
ERRTF 23,854 22 261 4 6 337 27 121 955
KB FF 87,719 81 2,094 13 17 1,201 99 734 3,906
EER 50,900 43 668 12 6 650 58 382 2,434
ZRE 13,900 8 212 5 5 262 24 120 501
IR 9,114 10 116 1 2 197 9 63 432
EmE 5,628 5 74 3 3 107 12 45 192
ERE 6,993 6 123 3 1 91 5 38 272
A 18,483 22 265 4 6 389 18 117 892
LER 25,210 17 479 5 9 598 25 224 1,222
=)=t 13,765 13 206 1 2 281 10 77 649
mER 7,604 2 70 2 2 132 11 51 376
EFE 10,100 9 161|- 2 217 5 57 402
EEE 12,443 7 285 5 2 139 17 79 630
Syl 6,259 2 131 2 1 53 5 22 278
rer = 43,697 35 702 4 11 740 47 270 2,417
HEER 7,466 7 203 3|- 72 10 21 394
RIFER 14,227 13 386 2 5 235 15 103 533
RERIE 17,004 17 326 3 9 199 12 126 831
Nl 12,390 8 178 4 3 181 8 116 616
IR 9,491 10 312 2|- 162 3 87 433
EREE 15,561 4 476 3 1 195 12 107 658
pEER 12,359 7 421 5 8 378 11 68 550
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RO5% 4 Al .
ERE R - 5 EHR A

L RES 97 98 99 100 101 102 103 104
BEMX |MFEEREKME [1I2MER (EXER |BEME [LE>Ta [CFCEE |2XTHIE
f 2% HIEER |[HEtRE |B/MEE |STHRE (212 -T1|# EFiE

. 5 FAZEE |(BEWEE |E E fEI% B
ERIERT IR % R
feE#m | ™

2F 1,086,579 146,702 1,371 197 20 11 11 11
itiEE 59,146 7,753 95 12|- 1 2 1]-

AR 10,711 1,331 7 - - - - -

=FE 10,373 1,214 10 1]- - - - -

EHE 20,683 2,724 19 7|- 3|- - 1
MEE 8,358 1,499 20 1]- - - - -

Iz 8 8,334 1,119 11 1]- - 11- -

=ER 14,938 1,637 13 e - - - -

IR 22,748 3,404 13 4(- - 2|- 1
AR 16,606 2,440 26 3|- 2|- e

HER 15,567 2,397 27 6|- - - - -

BER 55,244 8,634 66 5|- e - -

FER 50,470 6,796 50 11|~ 11~ - -

g 110,765 16,751 113 16 3 1 1 2
HEJIR 69,885 10,046 84 13|~ 1[- - 1
aR 17,847 2,589 16 6 - - - -

EWE 8,958 1,127 16 5|- - - - -

alg 10,129 1,122 11 4|- - - - -

fBHE 6,554 770 2 1]- - - - -

EE 5,314 634 7 - - - 1]-

EHFE 17,006 1,979 17 6|- - - - 2
Ik & IR 14,738 2,257 16 1]- - - - -

E4E 12 28,863 4,191 23 8|- 1[- - -

ZHE 51,072 8,489 64 9|- 2|- 1]-

==y 15,620 2,126 20 1]- - - - -

HEER 12,483 1,736 27 2|- - - - -

ERRTF 23,854 2,938 23 7|- 1[- - 1
KPR AT 87,719 12,064 114 18]- - 1 e

EER 50,900 6,597 95 10(- - - 4|-

Z=RBER 13,900 1,960 12 3|- - 2|- -
MR 9,114 1,138 7 3|- 1]- - 1
EmE 5,628 609 8 1]- - - - -

ERE 6,993 832 12 1|- - - - -

] L IR 18,483 2,245 37 5|- - - - -

LER 25,210 3,190 45 7|- - - - -

iimyl=t 13,765 1,491 14 1]- - - - -

mER 7,604 936 10 2|- - - - -

EFNE 10,100 1,052 31 - - - - -

gy o 12,443 1,608 11 1]- - - - -

Syl 6,259 587 8 11- - - - -

fEEE 43,697 5,194 44 5|- - - 11~

HER 7,466 925 12 - - - - -

RIFER 14,227 1,412 45 1[- 11~ - -

REARE 17,004 2,283 20 2|- - - - -

Nl 12,390 1,517 10 1]- 2~ - -

IR 9,491 869 5 2|- - 1|~ -
BERER 15,561 1,386 20 11~ - - - 1
pEER 12,359 1,104 15 1]- - 1]- 1
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 105 106 107 108 109 110 111 112
F—IdE (VVAEY) |FEME |INFRE [FERESE | DSVER|ERESIA|RIRR
1= 3¥ UEER |RMUEE [ABRER |hittkKkE |3 INF— a-vr—

. HABAEIR | HATEGEIRE |SEAEIEEE FUUER
MEMR | g B B B
feE#m | ™

2F 1,086,579 39 95 1,195 34 100 24 390 5

itiEE 59,146 2|- 27 1 6|- 8|-

AR 10,711]- - 19[- - - 6 1

=FE 10,373|- 1 10[- - - 4-

EHE 20,683 1 1 23|- 2 1 5|-

MEE 8,358|- - 9|- 11~ 2|-

Iz 8 8,334|- - 17]- 1]- 4(-

=ER 14,938|- - 11|~ - - 6|-

IR 22,748 1 1 29|- 1 1 9|-

N 16,606|— - 19(- - - 14]-

HER 15,567 |- 2 25|- 11~ 2 1

mER 55,244 2 8 73|~ 6 1 22|-

FER 50,470 1 2 51|- 6 1 17|~

B ER 110,765 5 16 147 6 13 2 74 1
HEJIR 69,885 2 4 100 1 6 1 19(-

FaE 17,847|- 3 17|~ 1]- 15 1

EWE 8,958|- - 14[- 1 1 3|-

alg 10,129 e 17|~ - 1 4|-

fBHE 6,554|— 3 5|- - - 2|-

EE 5,314|- - 10 1]- 1 1]-

EHFE 17,006 5 1 15| 3|- 3|-

Ik & IR 14,738|- 3 17|~ 1 1 4(-

E4E 12 28,863 1 7 26 2 1[- 12|~

ZHE 51,072 2 1 43 1 4- 8|-

==y 15,620 1 1 21|- 4 1 6(-

HEE 12,483(- 1 16 1 3|- 6 1

AT 23,854 |- 6 39|- 4|- 7|-

KB AF 87,719 8 5 101 3 7 4 30|

EER 50,900 1 3 34 4 3|- 14|-

Z=RBER 13,900|- - 13 2 1[- 6|-
FEdTI=] 9,114~ - 13- 3|- 3|-

EmE 5,628|— 1 11]- - - 1]-

ERE 6,993|- - 10[- 2|- 2|-

] L IR 18,483(- 3 20 4|- 2 8|-

LER 25,210(- 2 33 1 2|- 9|-

iimyl=t 13,765 1 2 9[- 1]- 10[-

mER 7,604|- - 7|- 2|- 11~

EFNE 10,100|- 2 3 2 1|~ 2|-

gy o 12,443(- 5 13]- - - - -

Syl 6,259|— - 13- 1[- 2|-

fEEE 43,697 2 3 28 1 4 2 16(-

HEEER 7,466|- - 7|- - - 1]-

RIFER 14,227 1 2 10 3 2 1 5|-

RERIE 17,004|- 1 14]- 4 1 1]-

Nl 12,390(- - 14 1]- - 4(-

IR 9,491|- 1 13]- 2 1 3|-
BERER 15,561 2 3 17|~ - - 5|-

pEER 12,359[- 1 12]- - 1 4|-
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 113 114 115 116 117 118 119 120
BUARO |FEDRIO [EEMER [TRE— | BHER |SEERE (7/Yyo [EEED
J4— 3}_1—'&? ﬁ;ﬁ]%ﬂs‘i TR | =z RIEREE | RR=T7
_—‘IE ;
A A
feE#m | ™
2F 1,086,579 5,701 33 72 65 636 161 116 147
itiEE 59,146 249|- 1 4 31 9 5 1
AR 10,711 142|- 11- 6 2|- 2
=FE 10,373 79|- - 1 8 1 2|-
EHE 20,683 158|- 11- 21 3 4 1
MEE 8,358 43(- - - 3|- - -
Iz 8 8,334 71|- 6(- 7|- 1-
=ER 14,938 90 2 4- 8 1[- 1
IR 22,748 109|- 3 1 16 6- 5
N 16,606 119 2|- - 9 10(- 3
HER 15,567 86| - - 12 1 3 3
mER 55,244 268 4 2|- 38 2 6 13
FER 50,470 201 2 6 2 30 8 4 5
g 110,765 677 8 6 4 86 17 12 25
HEJIR 69,885 262 3 2 5 38 2 9 5
aR 17,847 96 1 1[- 6 4|- 2
EWE 8,958 44|- - - 1 1|- -
alg 10,129 22|- - - 7 1 3 4
fBHE 6,554 41|- - 1 2 3|- -
= 5314 43|- - - 2|- - -
EHFE 17,006 114]- 1 2 14 12|~ 7
Ik & IR 14,738 52|- - - 6|- 2 1
E4E 12 28,863 187|- 6 4 14 6 4 4
ZHNIE 51,072 119 2 1 4 24 1 4 9
=FE 15,620 83|- 1 1 16 2 1 2
HEE 12,483 53|- 4 1 6 4(- 3
AT 23,854 108 1 2 1 10 1 3 2
KB FF 87,719 536 1 8 6 28 17 4 8
EER 50,900 247 1 1 2 34 8 3 3
Z=RBER 13,900 88 1|- 1 2 6 2 3
MR 9,114 64 1 1]- 3|- - 2
EmE 5,628 22|- - 2|- - - -
ERE 6,993 41 1|~ - 1 1 2 1
A 18,483 112]- 2|- 12 4 12 1
LER 25,210 134 1 3 4 11 2 5 2
iimyl=t 13,765 80|- - - 7 1 4 1
mER 7,604 30|- - 1 5|- 2|-
EFNE 10,100 80| 11~ 10 1 1 2
gy o 12,443 52|- - 1 3 2 1 2
Syl 6,259 23|- - - 6 1|~ 1
fEEE 43,697 159|- - 7 29 6 5 6
HEEER 7,466 26|- - 2 3|- 1 1
RIFER 14,227 53|- - 3 12 2 1 3
RERIE 17,004 117]- - 1 10]- 1 5
Nl 12,390 59(- - 1 10 2 3|-
IR 9,491 57|- - 1 5 3 1 1
BERER 15,561 89|- - 1 14 2 5 3
sk o 12,359 116 2 8 1 10 6|- 4
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 121 122 123 124 125 126 127 128
#HETT) (HRAT |REEEE (RETHE |HEE@ER (NU—EZ|EEAzE (Evh—X
FULE DTV |REEH [EEAE |RTzO4 B ELME |2y TiE
. EE JEZ 55 |INAEZ £ R x4 A 2¢
MEMNE | P2EEL (BEEE [SEEHY
fEE#™ MHEER |BHEXE [FAME
i AR AE =g hd
2F 1,086,579 241 9 259 72 4 1,449 110
itiEE 59,146|— 7|- 9 11~ 46 4
HHE 10,711]- 2|- 4|- - 13-
=FE 10,373|- 2|- 6|- - 12 2
= i 12 20,683|- 4|- 4|- - 26 1
MEE 8,358|— 1{- - - - 12 1
A 8,334|- 2|- 2|- - 11|~
EER 14,938(- 6|- 1[- - 19 1
S 3] 22,748|- 5|- 1 2|- 24 3
AR 16,606 |- 3 1 2 11~ 32 1
HER 15,567 |- - - - 2|- 25 1
BER 55,244 |- 13[- 2 2|- 50 5
FEBE 50,470(- 16 1 6 1 1 67 8
g 110,765|- 25|- 17 5|- 160 18
v:E=J]=} 69,885 13[- 11 8|- 97 10
HiaE 17,847|- 3|- 6 2|- 19(-
EWE 8,958|— 4|- 3|- - 9 1
RIIE 10,129(- 4(- 1 1]- 16|-
EHE 6,554 2|- 4|- - 11|~
EE 5,314|- 11- - 1]- 7 1
EEE 17,006 5|- 6 1[- 19 2
Ik & IR 14,738|- 4|- 11~ - 12 2
E4E 12 28,863 |- 10[- 4 1[- 41|-
ZHE 51,072|- 9|- 17 4- 26 4
=FE 15,620|- 4 2 5|- - 20 1
HER 12,483(- - - 6 2|- 14 2
AT 23,854 |- 4|- 7 4|- 31 4
KPR AT 87,719|- 17(- 33 11|~ 106 7
EEE 50,900 6|- 14 2|- 74 6
Z=RBER 13,900|- 2|- 5 1[- 14(-
IR 9,114~ 1|- 1|- - 10(-
EmE 5,628|— 2|- 2|- - 10]-
ERE 6,993|- 2|- - - - 10 2
L e 18,483|- 6 1 5 2|- 24 3
LEE 25,210(- 8|- 10 2|- 38 1
iimyl=t 13,765|- 3[- 2(- - 18]-
mER 7,604(- 4|- - 2|- 14(-
EFNE 10,100|- 3|- 3|- - 17 1
EIEE 12,443|- 4|- - 1[- 20 2
Syl 6,259 (- 2 1 3|- - 10(-
fEEE 43,697|- 10[- 7 5 1 62 2
HEEER 7,466|- 1{- 2|- - 17 1
EigE 14,227|- 3|- 3|- - 21 2
RERIE 17,004|- 6|- 10 2 1 28|-
KoHE 12,390|- 4|- 2 1[- 37 1
IR 9,491|- 11- 2 2|- 22 2
EREE 15,561|- 7 1 12 2 1 59 3
sk o 12,359|- - 2 18 1|- 19 5




RO5% 4 Al .
ERE R - 5 EHR A

ERES 129 130 131 132 133 134 135 136
ERERE |AXME [TLX V(X ER | AEDRE |FeiEE [74HL |FEIERK
B(ZH |RETE (- LBk |[1REE BWRE |TAEEEE|GE
. 4 ) SR & B RE
EERF R agy  |E IV TIE
feE#m | ™ E3:
2F 1,086,579 46 45 52 17 13 8 24
itiEE 59,146 11~ 2 - 2|- -
HHE 10,711 1[- - - - - - -
BEFE 10,373|- - 1]- - - - -
= i 12 20,683 3|- - - - - - -
MEE 8,358|- - - - - 1|~ -
A 8,334|- - - - - - - -
=ER 14,938|- - 2|- - - 1 2
IR 22,748 3|- 3 1]- - -
N 16,606 3 1{- - - 1 1 1
HER 15,567 |- 2 2|- 1 1{- 1
mER 55,244 3 2 3|- 1|~ 1 2
FER 50,470 3 2 3|- - - - 3
g 110,765 6 6 5|- 6|- 1 3
HEJIR 69,885 3 2 11- - 1|- 2
FaE 17,847 2|- 2|- - - - -
EWE 8,958|- 1|~ - - - - -
alg 10,129|- - 1[- - - - -
fBHE 6,554 4- 1 - - - 1
EE 5,314|- 2 1]- - - - -~
EHFE 17,006 4 5 11- - - - -
Ik & IR 14,738|- - - - - - - -
E4 12 28,863 2 1|- - - 2|- -
ZHE 51,072|- 2 11~ - - 1 2
=FE 15,620|- - 1|- - - - 1
HEE 12,483(- 1 e - - - -
ERRTF 23,854|- - 1|- - - - -
KPR AT 87,719 4 4 2 1 1{- -
EER 50,900 1 2 3 - - - 2
=RE 13,900|- 1 1|- - - - -
MR 9,114|- - - - - - - -
EmE 5,628|— - - - - - - -
ERE 6,993|— - 1|- - - - -
L e 18,483(- - 1|~ - 2 1 2
LER 25,210 2|- 11- 2 1|~ -
iimyl=t 13,765 11- - 1]- - -
EESR 7,604 |- 1 1l- _ _ - -
FINE 10,100|- - 3 _ _ - -
EIEE 12,443|- - - - - - - 1
=R 6,259|- - - - - - - -
fa i R 43,697|- 1 3|- 2 1[- -
HER 7,466 |- 2|- - - - - -
RIFER 14,227|- 1 11~ - - 11~
REARE 17,004 1 2|- - - - - -
Nl 12,390(- 11- - 1]- - 1
IR 9,491|- 2 1]- - - - -
BERER 15,561|- - - - - - 11~
pEER 12,359[- — 2 1]- - -




RO5% 4 Al .
ERE R - 5 EHR A

EREE 137 138 139 140 141 142 143 144
[REMRE |#HEHE |EXEX (FSNER|(EEEE |S490 |24 90 [L/yDR-
BELR |BHEE KEEBER |# FESHAE | ——xR# [——FRA | HANIE
. fiE B2 RIZEET |TAMNA |FEEES [1xE
MERR | ABA Thirh
fEE#™
2F 1,086,579 82 81 47 97 84 18 390
itiEE 59,146 7 6 3 7|- 1 53
HHE 10,711|- 1{- - - - - 1
BEFE 10,373 1 1[- - 1]- - -
iR 20,683(- 2 3 2|- - - 8
MEE 8,358|- - - 1 2|- - -
A 8,334 11~ - 2|- - - 2
=ER 14,938|- - - 4 2|- 1 5
i e 22,748 1 3|- 1{- - 2 7
N 16,606|— 4 1 4 2|- 2 8
HER 15,567 |- 1[- 1 1]- 1 5
BER 55,244 4 5 1 5 3|- 1 14
FER 50,470 6 4 1 2 4|- - 17
g 110,765 13 8 2 6 19 1 32
HEJIR 69,885 5 1 4 4 4|- - 12
HiaE 17,847 2 2 2 3|- - 1 29
ZWE 8,958|- - - - - - - -
alg 10,129(- - - 1|- - - -
EHE 6,554 1 1|~ 2 11~ - 7
= 5,314[- - - - - - - 1
EEE 17,006 4 1|~ 4 11~ 1 13
sz B2 IR 14,738|- - - 4 1|- - 2
E4E 12 28,863|— 3 1 3 2|- 1 8
ZHE 51,072 2 3 3|- 2|- - 1
==y 15,620|- 3|- 5(- - 2 5
HER 12,483|- - 3 2 3|- - 3
AT 23,854 1|~ - 2 2|- 1 5
KPR AT 87,719 11 10 11 10 6(- - 21
EER 50,900 4 2 2 1 2|- - 21
Z=RBER 13,900 2|- - - 2 1 10
Mg 9,114|- - - - - - - 2
EmE 5,628|- 1{- 2 1]- - 1
ERE 6,993|— - - 1|~ - - 4
] L IR 18,483 1 5|- 2|- - - 9
LER 25,210 1|~ 1 3|- - - 21
iimyl=t 13,765 2 2(- - 4]- - 1
mER 7,604 1|~ - - 1[- - 2
EFNE 10,100 e - - - - - -
EIEE 12,443 |- - - - 11~ - -
Syl 6,259|— - - - - - - 2
fEEE 43,697 2 4 11- 4|- - 4
HEEER 7,466 2 1 1 3|- - - 13
RIFER 14,227 2 2 1 1 5|- - 21
RERIE 17,004 2 2 1 3 7|- - 10
Nl 12,390 1]- 4(- 1]- 1 3
IR 9,491|- - - - - - 1 3
EREE 15,561 1 3|- 4|- - - -
iR 12,359 1|- 1 2|- - - 4
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 145 146 147 148 149 150 151 152
DIRME | KBRE |[BHSAY HEEEE ([FAES- |RiK20E |[5RX Lyt [PCDHI19
1= 3¥ EF:3 ?:—Hiia’ ;%WI;& Zbﬁﬁ-t FEAE UK ESpERR S
_ 253 | A |
J— st iE M?\*/'; 2T ﬂ;%/uii E¥::3 B
feE#m | ™
2F 1,086,579 351 13 10 15 31 10 50 10
itiEE 59,146 16[- - - 1|~ 4(-
AR 10,711 5|- - - - - - -
BEFE 10,373 5|- - - - - 1]-
EHE 20,683 7|- - - - - 2|-
MEE 8,358|- - - - - 1 e
Lz I8 8,334 2|- - - - - - 1
fmER 14,938 6|- 1|~ - - 4l-
IR 22,748 14 2 1 2 2|- 4 1
AR 16,606 27|- - - 1 1|~ -
HER 15,567 6|- - - - - 1]-
mER 55,244 10 2|- 4 2 1 e
FER 50,470 44 1 11- - - 1 1
B ER 110,765 8 2 1{- 1 1 2 1
HEJIR 69,885 5 2 1 4 20|- 1 3
FaE 17,847 12|- - - - - 6|-
EWE 8,958/~ - - - - - - -
RIIE 10,129 1 1 1]- - - - -
fBHE 6,554 |- 1 1]- - - - -
= 5314 2|- - - - - - -
EHFE 17,006 10]- - - - 1 1]-
Ik & IR 14,738 3|- - - - - - 1
Ediil 28,863 7|- - - 1 1 1]-
ZHE 51,072 2 11~ - - 1 5|-
==y 15,620 6[- - - - - 1]-
HEER 12,483 11 1|- - - 1 1|-
AT 23,854|- - - - - - - -
KB AF 87,719 63| 11~ - - 3 2
EER 50,900 14[- - - - 1 11~
Z=RBER 13,900 13- - 1|- - 2|-
Mg 9,114 1|- - - - - - -
EmE 5,628|— - - - - - - -
ERE 6,993|- - - - - - - -
L e 18,483 13- - - 1|- - -
LER 25,210 8|- 11- - - 11~
iimyl=t 13,765 - - - - - - -
mER 7,604|- - 11~ - 1 11~
EFNE 10,100 e - - - - - -
ZIER 12,443 2|- - - - _ _ _
Syl 6,259|— - - 1|~ - 1|-
fa i R 43,697 3|- - 1{- - 1]-
HER 7,466 e - - - - - -
RIFER 14,227 5|- - - 1|~ - -
REARE 17,004 4- - 1 11~ - -
Nl 12,390 1]- - - - - 2|~
IR 9,491 4(- - - - - - -
BERER 15,561 4|- - - - - - -
pEER 12,359 5|- — 1|- - 1]~

19/86




RO5% 4 Al .
ERE R - 5 EHR A

ERES 153 154 155 156 157 158 159 160
AR50 |[BRKEER [SUFRY-2(LyMNER |[RA4—2- [EETEE ([BF14E |[£EXMHEA
A FE |HEHENE (L7T—E |8 r9x—/\—|{LiE RIE ik B
. ERMA |MREE |1 PN CF:c3
MEFR |y  |[MB%  |[FITA
feE#m | ™ AT b
fiE
2F 1,086,579 71 15 5 128 72 1,092 87 100
itiEE 59,146 5|- - 11 4 40 3 9
AR 10,711]- - - 2 1 12 1[-
BEFE 10,373 11~ - 1 1 5(- 2
EHE 20,683 3|- - 3 2 26 4|-
MEE 8,358 1]- - 2|- 8 1 1
Iz 8 8,334|- - - 1 1 14 2|-
=ER 14,938 3 11~ 3|- 11]- 1
IR 22,748 3 1[- 5(- 32 2 2
N 16,606 11~ - 3 2 19(- -
HER 15,567 2|- - 2 2 18 1 2
BER 55,244 3|- - 2 3 55 3 4
FER 50,470 2|- 1 12 4 51 1 5
g 110,765 2 2|- 4 16 135 5 7
HEJIR 69,885 4 1|~ 3 5 55 6 8
aR 17,847 3 1|- 1{- 11 2 3
EWE 8,958 2|- - - - 11 1 2
alg 10,129 1[- - - - 7|~ 1
fBHE 6,554 2|- - - - 9|- 1
EE 5,314 1]- - 2(- 11]- -
EHFE 17,006 1 3|- 3|- 26|- -
Ik & IR 14,738|- - - 4|- 17[- 1
E4E 12 28,863 |- 1|- 6 2 47 7 1
ZHE 51,072 3 11~ 2 2 43 4 6
==y 15,620|- 11- 11- 19]- 2
HER 12,483 1[- - 3|- 17 1 2
AT 23,854 4|- - 2|- 22 3 2
KB AF 87,719 7 1 1 22 3 78 6 5
EER 50,900 2|- - 5 4 59 14 6
ZRE 13,900 e - - 3 13|- 2
MR 9,114|- - - - 2 4 2 1
EmE 5,628 11~ 1l- - 3|- -
ERE 6,993|— - - - 1 2|- 3
L e 18,483 2|- - 3|- 21 3 1
LER 25,210 1|~ 1 2 2 33| 4
iimyl=t 13,765|- - - - 1 3 2(-
mER 7,604 1|~ - 1{- 6|- 1
EFNE 10,100(- - - 1 2 5|- 1
gy o 12,443 |- - - _ _ 4 i 1
Syl 6,259|— - - - - 6| 2
fa i R 43,697 11~ - 2 2 32 4 1
HEEER 7,466|- - 1 3|- 16]- -
RIFER 14,227 5 1|~ 2 2 8|- 4
RERIE 17,004|- - - 3|- 18- 2
Nl 12,390 1 11- 2 1 11 3|-
IR 9,491|- - - 1 1 16 1]-
BERER 15,561 1|~ - 1 1 13 1 3
iR 12,359]— - — 2 2 20 3 1
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RO5% 4 Al .
ERE R - 5 EHR A

L RES 161 162 163 164 165 166 167 168
REMR [fEXAE |HBERME BREA |BEHR [EERE (TILo7y [T—3X-
HIEMXR |(BRXMER|[XELE |RIE EEEE |MHRMEE EEHE (FUORE
. biabiy BKBRE |14 8T IE BiE EFiE
MERR | 25T, )
feE#m | ™
2F 1,086,579 79 4,086 655 34 24 143 1,310 249
itiEE 59,146 5 239 33 1 1 4 56 16
AR 10,711]- 36 3|- 1[- 7 1
=FE 10,373 2 38 7|- - 1 3|-
EHE 20,683 1 85 10|- - 3 12 7
MEE 8,358|- 21 4- 1 1 12 1
Iz 8 8,334|- 36 9|- - 1 6 1
EER 14,938(- 47 3 2 1 1 18 1
IR 22,748 1 70 15 2(- 1 34 6
AR 16,606 |- 74 13|- 11~ 17 2
HER 15,567 1 41 11]- - 1 10 9
BER 55,244 2 226 40 2|- 9 75 6
FER 50,470 4 167 35 3|- 10 55 12
B ER 110,765 11 401 72 5 1 12 204 37
HEJIR 69,885 7 265 29 1 2 6 73 21
HiaE 17,847 1 55 12|- - - 18 3
EWE 8,958|— 28 11~ - 1 5|-
alg 10,129 2 57 9|- - 3 12 3
fBHE 6,554 1 31 2|- - - 9|-
EE 5,314 1 11 2(- - 1 10 1
EHFE 17,006 2 33 5 1[- 3 53 11
Ik & IR 14,738 1 58 14 2 2 1 12 1
E4E 12 28,863 1 80 16(- 1 1 32 8
TR 51,072 8 216 36| 1 5 46 14
==y 15,620 2 52 6 1 1]- 14|-
HER 12,483 1 62 5|- 1|~ 21 2
AT 23,854 |- 81 20|- 1 6 38 7
KB FF 87,719 5 407 39 2 3 10 129 24
EER 50,900 2 275 32 2 1 8 55 12
Z=RBER 13,900 1 49 13 3|- 2 9 2
MR 9,114 1 37 3[- - 3 13 2
EmE 5,628|— 36 8|- - 2 12|-
ERE 6,993 1 26 19]- - - 12 1
L e 18,483(- 82 14(- 2 1 16 2
LER 25,210 1 59 16 1{- 4 38 1
=)=t 13,765 1 32 7 2|- 1 14 3
mER 7,604(- 23 5|- - - 3|-
EFNE 10,100|- 22 6 11~ 2 10 1
gy o 12,443(- 50 8|- - 3 12 2
Syl 6,259 |- 12 3|- - 2 7 1
fEEE 43,697 2 150 19 1 2 15 45 2
HER 7,466|- 16 3|- - 2 6 1
RIFER 14,227 1 31 5|- - 8 13 5
RERIE 17,004 6 72 8 1{- 2 10 4
Nl 12,390(- 34 12|- - - 15 3
IR 9,491 1 42 9|- - 4 7 5
BERER 15,561 2 73 7|- - 3 16 4
pEER 12,359 1 48 7 1 1|- 16 4
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RO5% 4 Al .
ERE R - 5 EHR A

EHRES 169 170 171 172 173 174 175 176
AT RIF A OVER D4V BHRRT7 [VATERSE [FBZE-/\3 |[Dq—/N\— |2 T4+
;I:{ ;;/ b A—EiE |IRE ¥R fEIRE [A——iE
P ,
R | R et
feEWmH | "™
EES 1,086,579 2 2 779 48 17 5(- 6
JtiEE 59,146 (- - 41|- - - _ _
EFHRE 10,711]- - 17]- - - _ _
=FR 10,373|- - 5[~ 1l- - _
=R 20,683|- - 11 1]- - - 1
MEE 8,358|- - 6|- - - _ _
iz 2 8,334/ - 5|- - - - _
BRER 14,938|- - 14|- - - _ _
R IE 22,748|- - 14]- - _ _
HARE 16,606|— - 15 1|- - - _
HER 15,567 |- - 7|- 1l- - _
BER 55,244 |- - 36 3 1 - _
FER 50,470|- - 31 5 1]- - _
BRIRHD 110,765|- 1 112 3 7|- - _
GBI 69,885|- - 44 3 1]- = 2
L 17,847|- - 14 1|- - - _
EILER 8,958|- - 7|~ - - _ _
BINE 10,129|- - 7l- - - _ _
BHE 6,554 - 3|- - - _ _
IR0 5,314(- - 5|- - - _ _
EHFE 17,006 (- - 13 1|~ - - _
5z B 18 14,738|- - 6 3= _ - -
FHER 28,863 |- - 13 4 1]- - _
BZME 51,072 - 27 2|- - - _
=ER 15,620|- - 12|- _ _ - .
HER 12,483|- - 9 1l- _ _ -
REBAT 23,854 - 9 1l- _ _
NG 87,719 2|- 81 5 2|- - 2
EER 50,900~ - 37 4 1]- - _
ZRE 13,900~ - 4- - 9|~ -
FERLR 9,114|- - 8 1l- - - _
SHE 5,628|- - - - - - _ _
SRE 6,993(- - 5|- - - _ _
i) LU 18,483|- - 10 1|- - - _
LEE 25,210~ - 13 1|- - - _
ITm) 13,765~ - 7|- 1l- - _
EER 7,604(- - 1l- - - _ _
FNE 10,100|- - 5|- - - _ _
gy o 12,443|- - 18 1|~ - - _
=8 6,259|- - 12|- - - _ _
a2 43,697|- - 31 2|- - - _
HEER 7,466|- - 7|- - - _ _
RIGE 14,227|- - 12|- - - _ _
REARE 17,004 - - 7|- - - _ _
Nl 12,390|- - 10]- - - _ _
=R 9,491 (- - 6 2|- - - _
BERER 15,561 gl- - _ _ ’
iR R 12,359]- - 14 2]- - - _
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RO5% 4 Al .
ERE R - 5 EHR A

ETRES 177 178 179 180 181 182 183 184
SaAarR—JL|ETvk [HYqUT L |[ATR—X [HIL—V|7R—)L (774 7ok
{%EE@ ;214)1/;‘/ XIEIREE [GEIREE  |fEIREE [EIREE |7 —ER|IL—ED
B | 5—1
P " pL:] E & # i3 %;7 fiE {5
g | ™
2F 1,086,579 21 18 62 20 11 5 3
dtiEE 59,146 2 1 3|- 2 2|- -
AR 10,711]- - 1|- 1[- - -
BEFE 10,373|- - - - - - - -
EHE 20,683 1 1|~ - 1|~ - -
MEE 8,358|— - - - - - - -
Iz 8 8,334|- - - - - - - -
=ER 14,938|- - 2|- - - - -
IR 22,748 2|- 3|- - 1{- -
AR 16,606 1 2 4- - - - -
HER 15,567 |- 1 11~ 11~ - -
BER 55,244 3|- 2 3 2|- 1
FER 50,470 1 1 4|- _ _ 1l-
R ER 110,765 3 4 6|- 1]- 1]-
EINES 69,885 1 2 3|- 9l- - -
RR 17,847|- - - - _ _ _ -
EIWLE 8,958 - - - - - - -
alg 10,129|- - 1l- 1= - -
BHE 6,554 |- 1]- - - - - -
= 5,314[- - 1[- - - - -
RHR 17,006~ 1 3 2|~ - -
5k B 1R 14,738(- - - - - - - -
FRAE R 28,863 1]- 1]~ - 1]- -
BHE 51,072|- - 1 1|~ - -
=R 15,620|- - 1]- - - - -
HER 12,483(- - - - - - - -
RARRT 23,854 1~ 1]- - - - -
NG 87,719 2 1 1 1 1]- -
EER 50,900|- - - - - 1 1]-
=RE 13,900(- 1]- - - - - -
Mg 9,114|- - 1|- - - - -
SRR 5,628 1]~ - - - - - -
SRR 6,993|~ - - - - - - -
fiE] L1 IR 18,483|- - - - - 1 1]-
LEE 25,210|- - 4 2l- _ -
iimyl=t 13,765 - - - - - - -
mER 7,604[- - - - - - - -
EFNE 10,100(- - - - - - - -
gy o 12,443(- 1|~ - - - - -
SR 6,259 |- - - - - - - -
fa i R 43,697|- - 5|- 2|- - -
HER 7,466 |- - 2|- - - - -
RIFER 14,227|- 1 3|- - 1|- -
REARE 17,004|- - 2|- - 1 e
Nl 12,390 1]- 1]- - - - -
IR 9,491 11~ 1]- - - - -
BERER 15,561|- - 1|~ - - - 2
iEIR 12,359]— - 3|- - - - -
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 185 186 187 188 189 190 191 192
742 |ARLY | REKE |ZIEEER (BEEERE (BEEE |V — |27 MVE
1) RfE & B I;:-{I;}‘/‘/ ¥ it iz EFiE PN CF:c3 EFiE
JEA!
PEHR | oy i
feE#m | ™
2F 1,086,579 5 4 22 60 100 94 7
itiEE 59,146|- - 4(- 3|- 4|-
AR 10,711]- - - - 11~ - 1
=FE 10,373|- - - 2 11~ 3|-
EHE 20,683|- - - 1 1[- 3|-
MEE 8,358|— - - - - - - -
Wz IR 8,334|- - - 1 2|- 1-
=ER 14,938|- - 1 1|~ - 2|-
IR 22,748|- - 1 2 6 11~
AR 16,606 |- - - 1 2|- - -
HER 15,567 |- - - 1[- 4(-
mER 55,244 |- 2 1 2 5|- 4|-
FER 50,470|- - 2 3 5|- 7|-
B ER 110,765 3|- 4 7 12 9|-
HEJIR 69,885 11~ 1 3 11 6|-
FaE 17,847|- - - - 1]- e
EWE 8,958|- - - - - - 2|-
alg 10,129|- - - - - - 1|-
fBHE 6,554 |- - - - - - 2|-
= 5,314|- - - - - - - -
EHFE 17,006 1]- 1 1 6|- - -
Ik & IR 14,738|- - - - 1]- - 1
Ediil 28,863 |- - - 2 5 3|-
ZHE 51,072|- - - 2 3|- 5|-
=FE 15,620|- - - 1|- - 2|-
HEE 12,483(- - - 1[- - 2 1
AT 23,854 |- - 1 1|- - 2|-
KB AF 87,719|- - 2 7 4- 4-
EER 50,900(- - - 1 3|- - 1
Z=RBER 13,900|- - - 1 2|- 2|-
MR 9,114|- - - 1 1]- 2~
EmE 5,628|— - e - - - -
ERE 6,993|— - - - - - 11~
L e 18,483|- - - 1 2|- 4|-
LER 25,210(- - 1 2 3|- 3|-
iimyl=t 13,765 - - 1 2(- 1]-
mER 7,604|- - - - - - 2|-
EFNE 10,100(- - - 1[- - - 1
EIEE 12,443|- - - - - - - -
Syl 6,259 |- 1|~ 1 1|- - -
fa i R 43,697|- 1[- 1[- 1 2
HEEER 7,466|- - - - 2|- 1]-
EigE 14,227|- - 1|- - - 3|-
REARE 17,004 |- - - 1 2|- 4|-
Nl 12,390(- - 1]- 1 1-
EIHE 9,491|- - - 2|- - - -
BERER 15,561|- - - 2 6|- 11~
iR 12,359]— - - 6 6|- - -
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RO5% 4 Al .
ERE R - 5 EHR A

& RES 193 194 195 196 197 198 199 200
TS5 —- |VYEREE (X—F (VT -2 [1p36KR %k [4pREAJE |SpREGE |F14F 2
%;»r')ﬁﬂi it 3 1‘/7;‘/*/& FEIRRE  |[1R3# &% BEXE
I 1A A
i I * Cien
lEE#Mm | ™
EES 1,086,579 191 22 48|- 10 11 8 6
timE 59,146 6 1]- - 1 1 1|-
EFHRE 10,711 5[~ - - _ _ _ -
=EFE 10,373|- 1l- - _ _ _ -
EHR 20,683 5 1 1|- 1 1= -
MER 8,358 4|- 1l- - _ _ _
LR 8,334 1 1]- - - _ - -
BRER 14,938 4|- 1l- _ _ _ _
YA 22,748 2 2|- - 1]- - _
HARE 16,606 1 1 2| _ _ - -
HER 15,567 5(- 1l- - _ . _
BER 55,244 8 1 2|- - - - -
FER 50,470 9 2 3|- - 1= r
E L 110,765 23 2 gl- 3 2 1l-
IR 69,885 1]- 2|- - _ _ 1
RR 17,847 5(- - - - _ _ -
EILER 8,958 3|- - - - _ _ -
BINE 10,129 1]- 1l- - _ _ -
fBHE 6,554 1[- - - _ _ 1=
TS 5314 1]- - - - 1= -
RHFE 17,006 4|- - - _ _ _ -
=) 14,738|- - - - _ _ - -
ARl R 28,863 9|- - - 9 |- -
ZHIE 51,072 2|- 1l- - _ _ _
=R 15,620 3|- 1l- - _ _ _
HER 12,483 2|- - - _ _ _ _
REBKF 23,854 7|- 2|- - _ - -
KB fF 87,719 18 3 4|~ 2 1 2|
EER 50,900 6 1 2|~ - 1= 1
=BE 13,900 1 1l- - _ _ _ _
FERLR 9,114 3|- - - - _ - -
SHE 5,628 4|- 1l- - _ _ 1
SRE 6,993|- 1 1l- _ _ - -
fEl (LR 18,483 3|- 1l- - ’ 1l-
LER 25210 2 1l- - _ _ _ -
ITjmy'=y 13,765 2|- 11- - _ _ 1
EESR 7,604 1]- 1l- - _ - -
FIE 10,100(- - - - _ _ _ -
ZRE 12,443 5|- 2| _ _ _ -
=R 6,259(- - - - _ _ _ -
12 R 43,697 7|- 3|- - _ . _
HER 7,466 2|- - - _ _ _ _
RIEE 14,227 2 1 3|- - _ - -
REARE 17,004 4|- - - - _ _ -
KR 12,390 4|- 1l- - _ 1l-
= 9,491|- 1l- - _ _ _ -
ERER 15,561 2|- 1l- - _ - -
HHEE 12,359 3 1 1l- - 1 1 1




RO5% 4 Al .
ERE R - 5 EHR A

& RES 201 202 203 204 205 206 207 208
FoOTIL |[RZRT (22q11.2R [TIXI)L (MEEEXAE R M SEXE X {2 BIARE |[1S1IE KM
;‘zﬁﬂi Eg:;dﬁ KIERR [fEIREF  (BFERER (B BRE |EEAME
I 5N

#RE fiT IR o

lEE#Mm | ™
EES 1,086,579 29 87 6 12 1 51 247
s 59,146 2|~ 1]- 1]- 9 6
AR 10,711|- - - - _ _ i )
5FR 10,373|- - - - _ _ - 3
EHE 20,683 |- 2 1l= _ 3 9
MEE 8,358|- - 1l- _ _ - r
Lz 8 8,334 1]- - - - - - _
BER 14,938|- - - - _ _ - 1
373 22,748 3|- 5|- 1 1 1 9
ARE 16,606 2 - - - _ 9 3
HER 15,567|- - 3|- _ . 1 s
BER 55,244 2|- 7 1]- - - 17
FTER 50,470 1]- 8- 1l- 6 17
R 110,765 1|- 1]- 2l|- » 33

RIS 69,885 3|- 71- - _ 9 17
RR 17,847 1]- 3|- - _ _ 5
EILE 8,958|- - - - _ _ - -
BIE 10,129 1]- 1l- - _ 1 r
BHE 6,554 - - - _ . _ )
TS 5,314|- - 1l- _ _ 1
RHR 17,006 (- 4 1= _ 4 1
Iz B2 IR 14,738|- - 1l- _ . _ 1
AHIE R 28,863 1]~ 2|- 3|- _ 8
EHER 51,072 1]~ 2 1~ - _ 9
=ZER 15,620|- - 1]- 1= _ 3
HEE 12,483|- - 1l= _ _ _ 3
REBKF 23,854 |- - 2|- _ _ i 4
KBRAF 87,719 5|- 6|- - _ 5 20
EER 50,900|- - - _ _ 1 o
ZRE 13,900|- - 1l- _ . , =

FRLE 9,114|- - - - _ _ ’ 5
SHE 5,628 - 1l- _ _ - -
SRE 6,993|- - 1l- _ _ - 4
fEl (LR 18,483|- - 2|- _ _ _ 5
LEE 25,210 2|- 1l- - _ 3 6
ITjmy'=y 13,765|- - - - - _ _ _
EESR 7,604 |- - - - _ _ - 1
FINE 10,100(- - - 9|- _ _ 1
BiRR 12,443|- - 1l- _ _ i 1
=R 6,259|- - - - _ _ - 1
12 R 43,697 1|- 1l- - _ 2 10
ERE 7,466 (- - - - _ _ - A
RIFR 14,227|- - 2|- 9|- i 5
IF N 17,004|- - 1l- _ _ , =
KR 12,390(- - 1l- _ _ _ 3
=R 9,491 (- - - - _ _ 2 1

ERER 15,561 1]- 3|- - _ 3 A
i 12,359 1]- 3|- 1= » 8




RO5% 4 Al .
ERE R - 5 EHR A

L RES 209 210 211 212 213 214 215 216
KM |BOEE (ZMER [ZRFF |OEDR [(ODEDR [Z70—0 @AXOE
EEL{IIE FCAEIREE |SEAE RIEZH | REZHES |BUE AEFTHR
. HIEUNG | B ENARER fiE
TAER ] wm BRI (s
feE#m | ™ fE
2F 1,086,579 334 554 87 223 191 140 869 345
itiEE 59,146 7 22 3 11 6 3 17 19
AR 10,711 5 8|- 2 1 1 9 4
=FE 10,373 3 5 1 4 3 1 4 2
= i 12 20,683 16 10[- 2 3 13 19 10
MEE 8,358 3 5|- 1 1 2 4 2
Iz 8 8,334 1]- 1 2(- - 6 3
EER 14,938 2 2 3 2 1 1 7 2
S 3] 22,748 17 11 2 4 3 2 32 10
N 16,606 5 9|- 5 5 2 18 7
HEER 15,567 4 12 1 3 5 1 14 2
BER 55,244 27 24 5 8 8 8 52 27
FEBE 50,470 20 30 6 12 20 9 63 17
g 110,765 46 45 6 26 21 13 101 34
v:E=J]=} 69,885 24 52 5 18 19 10 55 30
HiaE 17,847 10 6|- 7 3 1 8 7
EWE 8,958|— 3|- 2|- - 2|-
RIIE 10,129|- 3[- 2 1 1 1 1
fBHE 6,554|— 6- 1[- 2 2|-
EE 5,314 2|- - 1 3|- 3 1
EHFE 17,006 9 11 8 7 6 4 22 13
Ik & IR 14,738 3 3|- 2|- 1 3 1
E4E 12 28,863 3 20 9 6 9 6 14 16
ZHE 51,072 5 9 2 3 2 2 11 7
=FE 15,620 3 10 2 1 2 2 14 4
HEE 12,483 5 10(- 2 3|- 7 5
AT 23,854 3 6|- 1 1 6 9 5
KB FF 87,719 36 63 7 23 17 9 105 33
EER 50,900 10 29 2 12 8 4 31 13
=RE 13,900 7 11 1 9 5 4 23 5
FEdTI=] 9,114~ 3|- 2|- - 4 4
EmE 5,628 4 2|- 2 2|- 3 3
ERE 6,993 2 3 3 1{- - 4 2
A 18,483 6 10 4 6 4|- 12 10
LER 25,210 2 18 2 1 4 6 16 9
=)=t 13,765 4 1|- 2 1 1 2 2
mER 7,604 1 5|- 1{- - 3 3
EFNE 10,100 2|- 1 1 1 1 2|-
gy o 12,443 4 5(- 1 1 2 38 3
Syl 6,259|— 3|- 1|- - 3 1
fEEE 43,697 9 8 1 5 3 9 30 4
HEEER 7,466 1 10 1 3|- 1 10 3
RIFER 14,227 2 16 1 3 3 2 15 1
RERIE 17,004 3 5|- 3 2 2 10 5
Nl 12,390 1 2 3 1- 1 8 3
IR 9,491 3 10 1 1 5 2 12 3
BERER 15,561 1 12 5 6|- 1 12 5
sk o 12,359 13 16 1 4 9 4 29 4
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RO5% 4 Al .
ERE R - 5 EHR A

L RES 217 218 219 220 221 222 223 224
ITREA [ZIR—bk |FrOoz [BFET [(ARERE [—XER |—XHEE (EHFEHE
M2 EIXEE  |/-EJL [MREE (RERT |70—CE(|HEEE (B
. PN CF:c3 Bx Py EFiE REKARE
ZEATIR % Py
feE#m | ™
2F 1,086,579 148 300 2 1,370 421 13,694 398 1,130
itiEE 59,146 7 12|- 112 20 605 20 55
AR 10,711]- 4|- 8 5 169 4 8
=FE 10,373 2 5|- 26 3 174 1 18
EHE 20,683 5 11{- 11 4 209 11 11
MEE 8,358 2 3|- 1 3 102 4 8
Iz 8 8,334|- 2(- 27 7 124 3 7
=ER 14,938|- 2|- 9 7 129 2 10
IR 22,748 6 4 1 63 14 278 7 20
N 16,606 3 4|- 19 4 181 7 12
HER 15,567 4 5(- 48 4 175 5 11
BER 55,244 10 15[ 77 23 657 21 36
FER 50,470 10 9|- 53 18 644 15 59
g 110,765 17 33|- 83 28 1,742 54 112
HEJIR 69,885 10 19 1 64 30 780 31 59
HiaE 17,847 4 5|- 14 6 144 8 19
EWE 8,958 2 3|- 25 5 85 1 7
alg 10,129(- 2|- 17 6 141 5 11
fBHE 6,554|— 2|- 18 3 97 2 6
= 5,314[- 1|- 1 2 52 3 6
EHFE 17,006 7 5(- 32 5 169 7 10
Ik 5. 1R 14,738|- 10[- 11 10 209 5 15
E4E 12 28,863 2 6|- 30 9 319 7 42
TR 51,072 2 12|- 51 21 1,022 27 69
==y 15,620 3 5(- 22 4 184 4 12
HEE 12,483(- 5(- 15 4 158 4 7
ERRTF 23,854 2 16(- 21 8 332 10 31
KB FF 87,719 11 30| 80 37 1,077 29 117
EER 50,900 8 17(- 77 22 666 16 70
ZRE 13,900 3|- - 11 10 212 4 14
FEdTI=] 9,114 1 1|- 15 2 125 6 11
EmE 5,628 3 2|- 14 3 72 2 13
ERE 6,993|- 1|- 24 4 103 1 16
L e 18,483 4 8|- 34 11 257 3 23
LER 25,210 1 8|- 59 18 354 9 28
=)=t 13,765 1 1|- 25 3 96 4 9
mER 7,604 1 2|- 23 1 104 4 8
EFNE 10,100|- 1{- 7 1 257 3 14
gy o 12,443 2 2|- 12 4 90 1 9
Syl 6,259 1 1|- 10 2 67 3 4
fEEE 43,697 3 7|- 31 6 301 12 33
HER 7,466|— 5|- 19 5 85 3 5
RIFER 14,227 2 6|- 18 3 205 9 21
REARE 17,004 2 2|- 6 10 240 9 31
Nl 12,390 1 2(- 17 4 111 1 12
EIHE 9,491 e - 4 1 65| 6
BERER 15,561 3 2|- 21 7 158 3 9
sk o 12,359 2 2|- 5 14 168 8 16
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RO5% 4 Al .
ERE R - 5 EHR A

ERES 225 226 227 228 229 230 231 232
SERME |FEME |ARZ—RF(FAEMM MizEa |MigER (a1—-7> |[h—=—%&
TEFRERAE |BEK (/N> [LEXX E(BCR |REEREE |FRITY &
. JE) EMHEXIE URZIE
HERIR | gy P ED
feE#m | ™
2F 1,086,579 46 1,116 991 40 277 181 15 24
itiEE 59,146 1 38 66|— 15 4 4|-
AR 10,711]- 5 14 3 5 2 11~
=FE 10,373|- 8 5 1 2 3|- -
EHE 20,683 3 8 15[ 5 18(- 2
MEE 8,358 1 5 28 1 3|- - -
Iz 8 8,334|- 7 11]- 2|- - -
EER 14,938(- 22 8|- 12 4|- -
IR 22,748|- 16 14 3 6 1[- -
N 16,606|— 26 14 2 4 8|- -
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REERIR 17,004 2 16 18 4 5 3|- -
Nl 12,390 1 16 9[- 3 9[- -
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